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Online Annual Examination, 2022

B.Com. Part lll

GROUP- I

Paper Il
[Management Accounting]

Time : Three Hours ] [ Maximum Marks : 75

Tie : @ue ‘37’ sifaery ST FHER F, fT9H 79 T 8,
sfyard &1 @ve ‘q’ § oy 39T FHER & T 8 0T
e ‘g’ q G IWIT 799 &1 @UE ‘37 & gy vged
G

Note : Section ‘A’ containing 10 very short answer type
questions, is compulsory. Section ‘B’ consists of
short answer type questions and Section ‘C’
consists of long answer type questions. Section ‘A’
has to be solved first.

____________ ;;,_ -
Section ‘A’
freifena Sifaeryg SR 9941 o SW TP 7 &I arFl
7 &
Answers the following very short answer type
questions in one or two sentences. 1x10=10

1. YYHE @i i femel g faguast < fag |

Write any two characteristics of management

Accounting.
P.T. O.

10.
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SRS g fohd wed 2

What is contingent Liabilities ?

fata faerull oF <1 329 &1 &2

What are the two objects of Financial Statement ?
3TUE fagersor == %72

What is Ratio Analysis ?

e 31U fhd ed €2

What is Operating Ratio ?

N A oo @ 772

What is Cash flow statement ?
fadieTens @ @ F T § 2
What is meant by differential cost ?
WEER I 1 2

What is Flexible Budget ?

I YR TS H1 82

What is Zero-base Budgeting ?
Tl fa=ror = 2

What is material variance ?
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gug ‘q’

Section ‘B’
freTTfera &g ST F94 & IW 150-200 I155 T
43
Answer the following short answer type questions
with word limit 150-200. 5x5=25
. fa<ita faveoor @ @0 s §2

What is meant by Financial Analysis ?
3T

Or
T FHET T 75,000; @64 % 20,000; Joed & T
5,000; TR dSft T 60,000; |
=] ST A I
Liquid assets X 75,000; Stock X 20,000; Prepaid
expenses X 5,000; Working capital I 60,000.
Calculate current ratio.
. e o & uRadd W e 2
What is statements of changes in working capital ?

3T

Or
frretfofan guell @ fafmed foasi @ dee
YATg hi TUMAT IS

[ 3] P.T. O.
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From the following information calculate the amount

of net cash flow from the investing activities :

faeRu (Particulars) 31-3-2014 31-3-2015
£ %

9fH (Land) 20,000 10,000

(Plant and Machinery) 81,000 1,00,000

3 erei fafim

(Long-term Investment) 4,000 10,000

AR W‘i (Additional informations) :
(1) T 1@ R W T 5,000 JE RN T B

Depreciation charged on Plant and Machinery
% 5,000

(2) % 6,000 % THE Yo o IS T HIMA ol
34,000 § 99 fa=m )

Plant and Machinery with a book value of
% 6,000 was sold for ¥ 4,000.

(3) 9" T 6,000 & Y W I & T T
Land was sold at a profit of X 6,000.

. T SAGH HHAT bl Tk ol oM hl @d T 150

A B w@feh IR " 120 T 90 g8 A W W
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SYasd § a1 e qfd w1 sTeared ¥ 1 anmd fasrse
I UER T :

3

qmRf gfd s 60
o9 9fd S 40
TRadRia == 10
TR AT 40
150

I FEEA G B T H T ST T w7

A manufacturing company finds that while its cost is
X 150 each to make component, the same is available
in the market at ¥ 120 each with an assurance of

continued supply. The breakdown of cost is :

£

Material per unit 60
Labour per unit 40
Variable Expenses 10
Fixed cost 40
150

Should the company go for buying in place of making
the part ?

[ 5] P.T. O.
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31rar

Or
= foerol ¥ w9-fo=e fag 9@ &ifee .

Calculate B.E.P. of from the following informations :

fasha (Sales) T 10,000
qRadeiial @R (Variable Cost) T 50,000
oM (Profit) % 20,000
TR AN (Fixed cost) T 40,000
ATH-HET 91T (P/V Ratio) 20%

. 80% &9l ¥ TEfed el ¥ 60% &Hdl W THh

Al dsid 13U |
ZhEAl IcdTied 800 &HdT 80%

el T 100 9fd s
5 3 50 Ufd 3@
ERISIGIR ¥ 20 9fd 318
HREM Y 3 50,000 40% fEeR
ENIEE R 3 40,000 60% fEer

With the following data for 80% capacity prepare a
flexible budget for 60% :

Unit Produced 800 capacity 80%
Materials % 100 Per unit
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Labour T 50 Per unit

Direct Expences % 20 Per unit
Factory Expenses X 50,000 40% Fixed

Administration
Expenses X 40,000 60% Fixed
YT
Or

faora a2 1 ®2 faopg soe fmio = w99
foamia yq@ @i 1 eei@ it |

What is Sales Buget ? State the principal factors that

should be considered in developing a sales budget.
. ¥ STUR SS1ed 3R TUORTd dsfed H 3= il |

Differentiate Zero-base Budgeting and Traditional
Budgeting

AYAT
Or

Teh oh18 oh 3cdIGH oh Tl T 5 9fd feraimd =t @rma
Y 10 Torciium™ &1 9rRl i STevdehdl Bidl ©1 T
SRS oh ICUIGA hl TU B W T 4.50 id fehaium

AN i 12 ToRauma |l o1 39arT fhar |
Tt =Rl Y T Shifeiy |

[ 7] P.T. O.
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The production of a certain unit requires 10 kg. of
material costing X 5 per kg. On completion of the
production of a unit it was found that 12 kg of material
costing X 4.50 per kg. has been consumed. Calculate
Material Variance.
gue ‘g’

Section ‘C’
feTferd <19 SWIF g9 & W 300-350 =5 HiH1
73
Answer the following long answer type questions
with word limit 300-350. 8x5=40

. TeEshIA @Aty ¥ A9 o THEd § 2 3ok WqE

329l hl od3q |

What do you mean by Management Accounting ?

Explain its main objectives.

HYAT
Or

TR Hqtherafin it fat. &1 feear f=1 gaR
3

The following is the Balance sheet of Prabhakar
Manufacturing Co. Ltd.
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ﬁE,\BT (Balance Sheet)

feraoT (Particulars) T
Amount
I. ©Ha ud S (Equity and Liabilities) : 4
3T9TE St (Shareholdre’s fund)
379 fﬁﬁ (Share capitals) 40,000

T T M (Reserve & surplus) 1,00,000
RIS =1e] g1ired (Non-current liabilities) :

B9 (Debentures) 1,00,000
=] g1t (Current Liabiliies) :

IReR SeTAr (Trade Payables) 50,000

6,50,000
. gwafEr (Assets)
TR-=1e] TEfaEr (Non-current asses) 4.50,000
=e] IRl (Current assets):

Tfda (Inventories) 1,00,000
HATqTeh 9T (Trade receivables) 70,000
e TS ke TAF& (Cash & cash eq.) 30,000

6,50,000

8 &t faehl T 8,00,000 T1 f9=1 STUdl Y TOR
ST
Sale for the year amounted to ¥ 8,00,000. Calculate

the following ratios :

[ 9] P.T. O.
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(a) o THR 3T (Total Assets Turnover)

(b) T o TR-=re] ¥wfa eed (Fixed or Non-

current Assets Turnover)
(c) ?IWL@IIﬁ{ 3Ted (Current Assets Turnover)
(d) i tITrﬁ 3T (Working Capital Turnover)

. 9= wo®l § sl wrEiEia Ot § gRerd @b

faeor qen +Iv Yae faero TR s © e

From the following data you are required to prepare
a statement of Changes in working Capital and a fund

flow statement.

faraXut (Particulars) 31-3-14 | 31-3-15
3 3
%S (Cash) 20,000 | 25,000
ek 9T (Trade Receivables) 24,000 | 27,000
“hY (Inventories) 39,000 | 39,000
it wEf (Fixed Assets) 50,000 | 58,000
?9 o U F=F (Provision for Dep.)| 21,000 | 25,000
=& <3 (Trade payable) 20,000 | 21,000
Trehrei 397 (Long term Loan) 14,000 | 13,000
3791 USTt (Share capital) 50,000 | 53,000
gfaeniid ey (Retained Earnings) 28,000 | 37,000
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Afafer ?f:l—rmi (Additional Information)

(i) T 4,000 F AN HI TR gmfy (FfEd g™
3 1500) &I oI W o= TE |

[Fixed assets costing X 4,000 (accumulated

depreciation X 1,500) was sold at book value]
(i) @ H T 3,000 1 T fe=m AT

[During the year a dividend of X 3,000 was paid]
(ii)) & 1 LS ¥ T 12,000 o1

[Net Profit for the year was X 12,000]
3AUAT
Or

gfaen fa. =1 enfeder faear f=1 g&R B A voE
faeror Tar wifsT

Following are the Balance Sheet of Pratibha Ltd.

Prapare (cash flow statement.)

. T FH. Fraehl e & 15,000 seiEal wfa &
T S 1000 SEA S X @ E, ot e
ISR | ¥ 25 9fd 3hE &l L ¥ @Ud ¢ 1 39 3R
1 9fd 3 AFE-us T YRR T

A firm having a capacity of 15,000 units per year

produces. 10,000 units which are consumed in the

[ 11 ] P.T. O.
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home market at I 25 per unit. The cost sheet (per

unit) on the basis of this output is as under.

3

It (Material) 8.00
#H (Labour) 6.00
TR hEH =&
(Fixed factory Expenses) 2.00
RITCRENIMCarte IR
(Variables factory Expenses) 1.50
S = (Office Expenses) 1.00
fasha =9 (Selling Expenses) :

AT (Fixed) 0.50

YRR (Variable) 1.00

hel T (Total cost) ~20.00

T faesht s 3@ a%g | ¥ o W ®, dAfehd 9%
FaA 5,000 IHEAT HA F F TH © AR I8
3 18 9fd 3ohTS ohl ShIHd TR | AT 39 ®H i TR
ipfa &t T 2q §?

A foreign customers is interested in the product but

he is willing to buy only 5,000 units and that too at a
price of X 18 per unit. Do you advice the firm to

accept the order.
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3gar

Or

gon fafges w1 dmr oy @ foern fefafed §

The statement of marginal Profit of Pooja Ltd. is as

under : 3
fasha (16,000 ghTear)

[Sales (16,000 units)] 3,20,000
gREd el @ (% 15 $hE)

[Variable cost (X 15 per unit)] 2,40,000
3EH (Contribution) 80,000
TR AT (fixed cost) 60,000
Y (Profit) 20,000

TMH-HEAT ST i TUET RIS L1 Ik STER T
A i —

Calculate the project volume ratio and then on the
basis of P/V Ratio, determine :

(i) F9-fo=e fag (Tuai H)

(Break even point in rupees)

(ii) gRan g, S&feh e 3 4,000 =
(Margin of safety when profit) in X 4,000)

(iii) ¥ 40,000 &Y HAA ok fa@ foen |
(Sales to earn a profit of X 40,000)

(iv) T 2,56,000 1 faonl X gRad-siial anmd

(Variable cost when sales ammount to X 2,56,000.

[ 13 ] P.T.O.
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4. TT59eT I5eT ¥ 39 N THd © 2 3Tk Hecd

THET | 1 3HH w9 dmE off €2

What do you mean by Performance Budgeting ?
Explain its importance. Has it any limitations ?

HAAT
Or

T ol Gxen &} 3 &Har 20,000 TehTE 9fd

o8 ¥ TH Ay o faw 10,000 ShEE * ScARA
W wsee @9 e feu w ¥ e

gid gPER

EEiapol} 40
TS 50% iRt 20
Tt == (40% fEerR) 10
e =g (Tl fEeR) 5
faspa wa faamo =3 (60% feer) 5
Hd AN 80

Y 20
EERR &) 3 100

FE 70% T 100% TR h! T o] Teh AT aoie
TR HifST | I8 EE © foh adam ufa g fasha
Hed 1 o 60% T FHM @, I8k d18 hrd-&T
& 90% R SHH 5% T HH T H TR T1 90%
% SW A H YIHh 5% 1 gfg W 7 | 2%6%
FT HA T B AW T
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A manufacturing concern has the production capacity
of 20,000 unit per annum. The expences budgeted for
10,000 units for a period are listed below :

Per unit X

Material 40
Wages 50% variable (50% variable) 20
Manufacturing Exp. (40% Fixed) 10
Administration Exp. (All Fixed) 5
Selling & Distribution Exp. (60% Fixed) 5
Total Cost 80
Profit 20
Selling Price % 100

Prepare a flexible budget to show 70% and 100%
level of activity. It is expected that the present unit
selling price will remain constant up to 60% activity
beyand which a 5% reduction is contemplated up to
90% activity level. Above 90% a 22% reduction in
orginal price is contemplated for every 5% increase

in volume.

. o9 ANTA foa=Ror R % 7 35k fafy= deeehi ol 95
Hfed T2 whifsy |

What is labour cost variance. Explain its various

component alongwith their formulae.

[ 15 ] P.T.O.
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AT
Or

Ffafea gamsl 9 98 foa=ro A9a wifse—
YA |H . 4 502 Gfd ghTS
Ao <X % 6 Ufq "o
TEdfereh 3care : 2,000 3ehTEAT
el HEA TS : 8,500 ®U
fftehg =od ;200 T02
arfaeh <X : ¥5.80 Hfq =oer|
Calculate labour variance from the following data :
Standard time : 4 hours per unit
Standard rate : X 6 per hours
Actual Production ;2,000 units
Total hours taken . 8,500 hours
Idle time : 200 hours
Actual rate . X 5.80 per hour.

00000dOO0000
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